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20.20

BODO

(MODERN INDIAN LANGUAGE)

Full Marks : 100

Pass Marks : 30

Time : Three hours

The fisures in the margin indicate full marks
' v 

for the questions

Q. No. 7 carties 7 mn* each

Q. No. 2 catries 2 marks each

Q. No. 3 carries 5 nurks each

O. No. 4 carties 6 mnrks each

Q. No. 5 csruies 4 marks each

Q. No. 6 carries L0 mnrks

1.x\2= \2

2x13 = 26

5x4 = 20

6x2= 12

4x5 = 20

LOxL = L0

Total =100

C-ontd.



1. *+s ffi gEr Hrfidi rrdqfr fr-gqtrfr ftT{rq fr{ : (qffi qtqr ffi+fr)
(ts') "Morat,'frffi eirferqr qr? Lx12='t'2

(rq) "gf{ :ifu" tiE qe'fr ffirkqr fit?(r) qrrfift ffi 5-er qr tr?
(q) dEft +s)ft dTS qrqEr{ ful
(9 "an Outline Grammar of 'the Kachari or Mech language,, ffi

ffirftcr ril{?
(q) 3Trdrft <reqrqr frsrut qn trshnq Fror fuqF erfi trd*tz(E) Rqr$H qr'qtr +tsi *ft {r{fr riiridcz
(q) "gq-iqq" q;errqft g*{EFrRqr rk?
(S) qrkq sfu<er qr ra;ery ffi qrcrq {1frm effirgfr Er*r fr{dfrr7(q) nifu-qTkofl rir?

. (z) "rn€ fiifr ot{qrq fi,'\iE rrf,'ffi ffirRcr {t{?
(a) {sr<fr €qfirqr qteft?
(s) "q('aR fr qt,Erft qrdi ? <rq qrft srft" +r q*ncftftqr d*z(6) s.Efrfr $qR ffiqr indfqd qr ffi €*z

2. €Et m-r*q fer : (qrqfu-qr+t dnFqqrqfr)
(6') ctq srd t ffi rTrfuqrq H.r+t *x fq@r <*{r
(u) ftcrf,{d Tgor ggqrc.rii {i< va,fq-qrqt{ t fd{r(r) eTRnFr ffitfr fuq.rgffi tsl qT+{7
(s) qr' g-i-drqf{ qnfufr €qdt q"}o gs.I +r-{rq qrfr?

2x13=26

(9 lqq dm cgsll ggnc.rii or{Fsf{ t fur,
(q) "qrq t'nd Od'*fr 1q4', nft tNi qr eiiler st{qrq-i rrflAz
(E) {s'drc mm rirtq fr-uts oTri rnMrfifr g-et qr?
(q) T<Rrq qgql f66apq rri+ q.rqflmfr € fifir(g) 'dtq'+d-qr qrqrtt ffirZ
(s) em{qt{d rffii q1 ffi rpqffirz
(z) qq{ a-e dgfiur g-Eilq e;a{Eql ffi g-s.r c1 srdt qrfl etien<Tqhr
(3) "{q }ssr'6x1g311q s-*ar{ftftqrm qlqln dr qr qrcnm} Erfr E}r-{r

€dr?
(s) offg crqifuTr qrqr ent qr €-*.lq ffi qrerq r{, glor{ qq'rfi {qRq-q1frfrfrqu
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(a) "ore) rftlrql q6" EtfiT E-*.lT-{FrR-qr uri €A?
(!r) qfttrh $rrq nFErGq eqqT-q {q-fr €ilq {fi ergi rrurfr { furr

3. rrldrqfr $-gst{f{ fuflq fu : (ffift) 5x4=20
(q) rrs sII€rcIrs qsqq {-6fu9 <rqrji tqr orl-{$st{r qr qr?
(€) qqtq-{rqrft tQ-{ frfufr qrqrq dTQ {q st{qrqRr fd{ r

(,r) et' gTdrqqrE Wn ffirfr ffi{ ffit fu{l
(s) erqfi *Senq eTrc-d oilEf{ sqruRqrqr crerf( H s{rft q(( anrt lerr(9 e-qrEftRq Eqf{ HrsH E{f{ rNBn +{q'r +116I ErsR rtri qr6rqrR

qrn T,ir?

4. :nErqfr ritgst& fo-r-{q€t l-qft ffi ; 1frq+try
(e.) Ersgfu 6wt-+t m{z ffi 3nErR <H-crq} qr qr rro{ frqrd ltqti+{?
(E) d{qr dT+S tciffi 3nt q at ? e& M qr qnrs o{rt rrfr qrerq <iqrqqd fuir
(r) sH qsr$ sTfi fletq{q dgh ti{e cr <tqrd 6ffi qrefl qnq-flTflq

qni+{ frffi fd{l

5. Tt{q qtRt fu-d-{H td{ . 4x5=20
(+') rn{qr idqq,r qdt gd U waw ndqs'rst{d qr$lii qr{If( eEr.rflq qrfr

fqfftrfr etqrql
(q) <rqr+qr qrdr g-d? M im+i sr6r,tf{ frRf;r{ ffi frrl
(rI) R'{rEfr qm{rq rffi utf*r+M qtrqr{mi fu{l
(s) ilinE ftrr<rt qrsr <r : (ffifr;

fug rffls, grrft Ehi, M i-qr, erRr rnc{rq, +Er srfu, €rsrf, <rq{r
(g ereflw,rq Bd{r ffi{ .

"gft 5<r srlq .nt"
(rqr

t'6q1gFN ffi erqrq gt6rfr"t ,

6x2=12

10x1=106. qmfu qpql Qnffi tt-qrs fu{ :

(6) tqrg dTfrt
(ts) ;if q1.afl{flq ffi qrqql
(r) kacqr M{ gqm-{ ffir
(s) =if fi-qi d-{flq ffi dorl
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